
MATHS

BOOKS - ZEN MATHS (KANNADA ENGLISH)

TRIANGLES

Illustrative Examples

1. In the figure,  and . Prove that 

. 


W t h Vid S l ti

PR ∣ ∣ RC QR ∣ ∣ BD

PQ ∣ ∣ CD

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_UzLlbbLGaEiN


Watch Video Solution

2. In the given figure  prove that 

. 


Watch Video Solution

DE||BC and CD||BF

AC 2 = AE × AF

https://dl.doubtnut.com/l/_UzLlbbLGaEiN
https://dl.doubtnut.com/l/_vCs0Y1kxSmKr


3. In the figure, . Prove that 

. 


Watch Video Solution

AB ⊥ BC and DE ⊥ AC

ΔABC~ΔAED

4. In the given figure P is the midpoint of BC and Q is the

midpoint of AP. If BQ when produced meets AC at R, prove that

. 


Watch Video Solution

RA = CA
1

3

https://dl.doubtnut.com/l/_vCs0Y1kxSmKr
https://dl.doubtnut.com/l/_kZ2Dvz5vLMgY
https://dl.doubtnut.com/l/_V8ItJQgMET14


5. In the given figure, AD = 3 cm, AE = 5 cm, BD = 4 cm, CE = 4 cm,

CF = 2 cm, BF = 2.5 cm, then find the pair of parallel lines and

hence their lengths. 

Watch Video Solution

https://dl.doubtnut.com/l/_PaaSM0ZIuLrk


6. In the , altitudes AD and CE intersect each other at

point P. Prove that 

 

i]  


ii]  


iii]  


iv] 

Watch Video Solution

ΔABC

ΔAPE~ΔCPD

AP × PD = CP × PE

ΔADB~ΔCEB

AB × CE = BC × AD

7. In the figure . Prove

that . 


⌊QPR = ⌊UT S = 90∘ and PR ∣ ∣ T S

ΔPQR~ΔT US

https://dl.doubtnut.com/l/_4M97ho45GcXA
https://dl.doubtnut.com/l/_fSO3RZDPppVx


Watch Video Solution

8. In the figure  and AB = 5 cm. Find DC 


Watch Video Solution

= =
AO

OC

BO

OD

1

2

9. If the area of two similar triangles is in the ratio 25 : 64, find the

of their corresponding sides.

Watch Video Solution

https://dl.doubtnut.com/l/_fSO3RZDPppVx
https://dl.doubtnut.com/l/_6mQN5h7jzQDf
https://dl.doubtnut.com/l/_1KdciuWTVHFW


10. D, E and F are the mid-points of sides of . P, Q, R are the

mid-points of sides DEF. This process of marking the mid-points

and forming a new triangle is continued. How are the areas of

these triangles related?

Watch Video Solution

ΔABC

11. In areas of two similar triangles ABC and PQR are in the ratio 9

: 16. If BC = 4.5 cm. Find the length of QR.

Watch Video Solution

12.  and  are two equilateral triangles and 

. Find the ratio between areas of  and . 


ΔABC ΔBDE

BD = DC ΔABC ΔBDE

https://dl.doubtnut.com/l/_1KdciuWTVHFW
https://dl.doubtnut.com/l/_mGVSdVnyQqpR
https://dl.doubtnut.com/l/_qlFxLV9NtP2Y
https://dl.doubtnut.com/l/_5mgJYjeulj8S


Watch Video Solution

13. AD is altitude of equilateral . On AD as base, another

equilateral triangle ADE is constructed. Prove that

. 


Watch Video Solution

ΔABC

=
Area of ΔADE

Area of ΔABC

3

4

14. The lengths of diagonals of a rhombus are 24 cm and 32 cm.

Calculate the altitide of the rhombus. 

https://dl.doubtnut.com/l/_5mgJYjeulj8S
https://dl.doubtnut.com/l/_NZSMUew2LIK5
https://dl.doubtnut.com/l/_V4P2rwyqDB5z


Watch Video Solution

15. The sides AB and AC and the perimeter  of  are

respectively three times the corresponding sides DE and DF and

the perimeter  of . Are the two triangles similar? If yes,

find .

Watch Video Solution

P1 ΔABC

P2 ΔDEF

ar(ΔABC)

ar(ΔDEF )

16. In the rectangle WXYZ, XY + YZ = 17 cm and XZ + YW = 26.

Calculate the length and breadth of the rectangle. 

Watch Video Solution

https://dl.doubtnut.com/l/_V4P2rwyqDB5z
https://dl.doubtnut.com/l/_OK53Y3PYBeFI
https://dl.doubtnut.com/l/_KnwiiIqBKhan
https://dl.doubtnut.com/l/_nEI5mHTECevH


17. An insect 8 m away from the foot of a lamp post 6 m tall,

crawls towards it. After moving through a distance, its distance

from the top of the lamp post is equal to the distance it has

moved. How far is the insect away from the foot of the lamp post?

Watch Video Solution

18. In , C is a point on BD such that BC:CD=1:2 and △ABC is

an equilateral triangle Prove that 

Watch Video Solution

ΔABC

AD2 = 7AC 2

19. In . Prove that 

. 


Watch Video Solution

ΔABC, CD ⊥ AB, CA = 2AD, BD = 3AD

⌊BCA = 90∘

https://dl.doubtnut.com/l/_nEI5mHTECevH
https://dl.doubtnut.com/l/_UZ5Yi9rEgrNE
https://dl.doubtnut.com/l/_Zt3b9Zx2lNSm


20. In the figure, . Prove that 

. 


Watch Video Solution

AB ⊥ BC and DE ⊥ AC

ΔABC~ΔAED

21. In the given figure . 


Prove that : 

 

a]  


b]  


c]  


d] 

Watch Video Solution

⌊BAC = 90∘

ΔAGF~ΔBDG

ΔAGF~ΔEFC

ΔBDG~ΔEFC

DE2 = BD × EC

https://dl.doubtnut.com/l/_Zt3b9Zx2lNSm
https://dl.doubtnut.com/l/_cyqZYBMXTPNS
https://dl.doubtnut.com/l/_21s9mC07lm1z


Textual Exercises Exercise 2 1

22. ABC is a right angled triangle. Points D and E trisect BC. Prove

that . 


Watch Video Solution

8AE2 = 3AC 2 + 5AD2

23. In an equilateral triangle ABC, . Prove that 

. 


Watch Video Solution

AD ⊥ BC

AD2 = 3BD2

1. Fill in the blanks using the correct word given in brackets : 

All circles are ……..... ( congruent , similar )

https://dl.doubtnut.com/l/_XbgRm3WuJ64u
https://dl.doubtnut.com/l/_iBTUBVd1JsfT
https://dl.doubtnut.com/l/_sh9zPi21qbDA


Watch Video Solution

2. Fill in the blanks using the correct word given in the brackets: 

All squares are ______ [Similar, Congruent]

Watch Video Solution

3. Fill in the blanks using the correct word given in the brackets: 

All ________ triangles are similar. [isosceles, equilateral].

Watch Video Solution

4. Two polygons of the same number of sides are similar, if 

Their corresponding sides are _______

Watch Video Solution

https://dl.doubtnut.com/l/_sh9zPi21qbDA
https://dl.doubtnut.com/l/_vaK6dmrIAOOZ
https://dl.doubtnut.com/l/_UdEbOG399uKD
https://dl.doubtnut.com/l/_xFSt693XdPCT


5. Two polygons of the same number of sides are similar, if 

Their corresponding angles are ______ and

Watch Video Solution

6. Give two different examples of a pair of different radii of

different length: 

i] Similar figures 

ii] Non-similar figures.

Watch Video Solution

https://dl.doubtnut.com/l/_xFSt693XdPCT
https://dl.doubtnut.com/l/_5DacXsZZFNB9
https://dl.doubtnut.com/l/_38LqJ6nfJCmA


Textual Exercises Exercise 2 2

7. State whether the following quadrilaterals are similar or not: 

Watch Video Solution

1. E and F are points on the sides PQ and PR respectively of a

. For the following cases, state whether EF||QR. 


 

i] PE = 3.9 cm, EQ = 3 cm, PF = 3.6 cm, and FR = 2.4 cm. 

ii] PE = 4 cm, QE = 4.5 cm, PF = 8 cm, RF = 9 cm 

iii] PQ = 1.28 cm, PR = 2.56 cm, PE = 0.18 cm, and PF = 0.36 cm.

ΔPQR

https://dl.doubtnut.com/l/_TpQfPMIkAXIY
https://dl.doubtnut.com/l/_WLYfV4aLnpVK


Watch Video Solution

2. In Fig , if  , prove that  

Watch Video Solution

LM||CB and LN||CD =
AM

AB

AN

AD

https://dl.doubtnut.com/l/_WLYfV4aLnpVK
https://dl.doubtnut.com/l/_0jaRx6ANth0U


3. In Fig . Prove that  


Watch Video Solution

DE ∣ ∣ AC and AE =
BF

FE

BE

EC

4. In the figure . Show that . 


Watch Video Solution

DE||OQ and DF ||OR EF ∣ ∣ QR

5. In Fig A, B and C are points on OP, OQ and OR respectively such

that AB || PQ and AC || PR . Show that BC || QR. 

https://dl.doubtnut.com/l/_1o64hoZq5eGX
https://dl.doubtnut.com/l/_lUhUDRUuVqA1
https://dl.doubtnut.com/l/_tSEH6of4VNFY


Watch Video Solution

6. Prove that a line drawn through the midpoint of one side of a

triangle parallel to another side bisects the third side (using BPT).

Watch Video Solution

7. Prove that the line joining the midpoints of any two sides of a

triangle is parallel to the third side. 

https://dl.doubtnut.com/l/_tSEH6of4VNFY
https://dl.doubtnut.com/l/_hAVBN0TfEYkY
https://dl.doubtnut.com/l/_tt1C0g2WUbZe


Watch Video Solution

8. ABCD is a trapezium in which AB || DC. Its diagonals intersect

each other at O. 

Show that  


Watch Video Solution

=
AO

BO

CO

DO

9. The diagonals of a quadrilateral ABCD intersect each other at

the point O such that . 


Show that ABCD is a trapezium. 

Watch Video Solution

=
AO

BO

CO

DO

https://dl.doubtnut.com/l/_tt1C0g2WUbZe
https://dl.doubtnut.com/l/_yixSA2mue2A6
https://dl.doubtnut.com/l/_T9s0Hk9HxMOb


Textual Exercises Exercise 2 3

1. If the areas of two similar triangles are equal, prove that they

are congruent. 

Watch Video Solution

2. If the areas of two similar triangles are equal, prove that they

are congruent. 

Watch Video Solution

https://dl.doubtnut.com/l/_T9s0Hk9HxMOb
https://dl.doubtnut.com/l/_TZHLuyVcdM0h
https://dl.doubtnut.com/l/_YH580oE8xCFV


3. State which pairs of triangles in Fig are similar. Write the

similarity criterion used by you for answering the question also

write the pairs of similar triangles in the symbolic form: 

 


Watch Video Solution

https://dl.doubtnut.com/l/_VU0zedywyfFT


4. If the areas of two similar triangles are equal, prove that they

are congruent. 

Watch Video Solution

5. In the figure

. Find 

. 


Watch Video Solution

ΔODC~ΔOBA, ⌊BOC = 125∘ and ⌊CDO = 70∘

⌊DOC, ⌊DCO, and ⌊OAB

https://dl.doubtnut.com/l/_bYxhLQpP3ix4
https://dl.doubtnut.com/l/_j5HcUzWr2LF1


6. In Fig , if  , show that  

Watch Video Solution

ΔABE∠ΔACD ΔADE~ΔABC

7. In the figure altitudes AD and CE of  intersect each

other at the point P. Show that 

 

1]  


2]  


ΔABC

ΔAEP~ΔCDP

ΔABD~ΔCBE

https://dl.doubtnut.com/l/_NC50Gr2ZiXZL
https://dl.doubtnut.com/l/_xqTFqBYd3iPr


3]  


4] 

Watch Video Solution

ΔAEP~ΔADB

ΔPDC~ΔBEC

8. E is a point on the side AD produced, of a parallelogram ABCD

and BE intersects CD at F. Show that . 


Watch Video Solution

ΔABE~ΔCFB

9. In Fig , ABC and AMP are two right triangles, right angled at B

and M respectively. Prove that : 

https://dl.doubtnut.com/l/_xqTFqBYd3iPr
https://dl.doubtnut.com/l/_RJhky2WE6C7x
https://dl.doubtnut.com/l/_vKZvJQip8Q8y


 


Watch Video Solution

=
CA

PA

BC

MP

10. CD and GH are respectively the bisectors of

 such that D and H lie on sidea AB and FE of 

 respectively. If , show that. 


i]  


⌊ACB and ⌊EGF

ΔABC and ΔEFG ΔABC~ΔFEG

=
CD

GH

AC

FG

https://dl.doubtnut.com/l/_vKZvJQip8Q8y
https://dl.doubtnut.com/l/_heZW5zgOCQI1


ii]  


iii] 

Watch Video Solution

ΔCDB~ΔHGE

ΔDCA~ΔHGF

11. In the figure, E is a point on side CB produced, of an isosceles

triangle ABC, with AB = AC. If  prove

that . 


Watch Video Solution

AD ⊥ BC and EF ⊥ AC,

ΔABD~ΔECF

12. Sides AB and BC and median AD of a triangle ABC are

respectively proportional to sides PQ and QR and median PM of

. Show that . 


W t h Vid S l ti

ΔPQR ΔABC~ΔPQR

https://dl.doubtnut.com/l/_heZW5zgOCQI1
https://dl.doubtnut.com/l/_wijmc6k32FmX
https://dl.doubtnut.com/l/_DrS9oh7QIqxT


Watch Video Solution

13. D is a point on the side BC of a triangle ABC such that

. Show that . 


Watch Video Solution

⌊ADC = ⌊BAC CA2 = CB. CD

14. Sides AB and BC and median AD of a triangle ABC are

respectively proportional to sides PQ and QR and median PM of

. Show that . 


Watch Video Solution

ΔPQR ΔABC~ΔPQR

https://dl.doubtnut.com/l/_DrS9oh7QIqxT
https://dl.doubtnut.com/l/_DURAC9NpfzAZ
https://dl.doubtnut.com/l/_DOw1Jema0FGf


Textual Exercises Exercise 2 4

15. A vertical pole of length 6 m casts a shadow 4 m long on the

ground and at the same time a tower casts shadow 28 m long.

Find the height of the tower. 

Watch Video Solution

16. If AD and PM are median of triangles ABC and PQR respectively

where , prove that .

Watch Video Solution

ΔABC − ΔPQR =
AB

PQ

AD

PM

https://dl.doubtnut.com/l/_CCWmV3wd4Njp
https://dl.doubtnut.com/l/_mCGLIbmzqqYi


1. Let  and their areas be , respectively , 

 . If EF = 15.4 cm, find BC

Watch Video Solution

ΔABC~ΔDEF

64cm2 and 121cm2

2. Diagonals of a trapezium ABCD with AB || DC intersect each

other at the point O. If AB = 2CD, find the ratio of the areas of

triangle AOB and COD. 

Watch Video Solution

3. In the figure ABC and DBC are two triangles on the same base

BC. If AD intersects BC at 0, show that .

Watch Video Solution

=
Area(ΔABC)

Area(ΔDBC)

AO

DO

https://dl.doubtnut.com/l/_2pNDEnLjBJaC
https://dl.doubtnut.com/l/_6pW64NuQD7lK
https://dl.doubtnut.com/l/_xG1EzdWHx8jE


4. If the areas of two-similar triangles are equal, prove that the

they are congruent.

Watch Video Solution

5. D,Eand F are respectively the mid - points of sides AB, BC and CA

of  . Find the ratio of the areas of 

Watch Video Solution

ΔABC ΔDEF and ΔABC.

6. Prove that the ratio of the areas of two similar triangles is

equal to the square of the ratio of their corresponding medians. 

Watch Video Solution

https://dl.doubtnut.com/l/_xG1EzdWHx8jE
https://dl.doubtnut.com/l/_9siOx7H0eueO
https://dl.doubtnut.com/l/_NWjANCWtRP96
https://dl.doubtnut.com/l/_8NBoFsHccc5Y
https://dl.doubtnut.com/l/_H1ZMn1Rnf2Nb


7. Prove that the area of an equilateral triangle described on one

side of a square is equal of half the area of the equilateral

triangle described on one of its diagonals.

Watch Video Solution

8. ABC and BDF are two equilateral triangles such that D is the

mid -point of BC. Ratio of the areas of triangles ABC and BDF is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2: 1

1: 2

4: 1

1: 4

https://dl.doubtnut.com/l/_H1ZMn1Rnf2Nb
https://dl.doubtnut.com/l/_gqRK2v1UI2bF


Textual Exercises Exercise 2 5

9. Sides of two similar triangles are in the ratio 4 : 9 Areas of

these triangles are in the ratio

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2: 3

4: 9

81: 16

16: 81

https://dl.doubtnut.com/l/_gqRK2v1UI2bF
https://dl.doubtnut.com/l/_EDeFDVBhKMV9


1. Sides of triangles are given below. Determine which of them are

right triangles. 

In case of a right triangle , write the length of its hypotenuse. 

7cm, 24 cm, 25 cm

Watch Video Solution

2. PQR is a triangle right angled at P and M is a point on QR such

that . Show that . 


Watch Video Solution

PM ⊥ QR PM 2 = QM. MR

3. In the figure ABD is a triangle right-angled at A and .

Show that 

i]  


AC ⊥ BD

AB2 = BC. BD

https://dl.doubtnut.com/l/_1dX1MRRxFT2B
https://dl.doubtnut.com/l/_H29UJ6CcxSJF
https://dl.doubtnut.com/l/_sDTn1YPkjVuz


ii]  


iii]  


Watch Video Solution

AC 2 = BC. DC

AD2 = BD. CD

4. ABC is an isosceles triangle right-angled at C. Prove that

. 


Watch Video Solution

AB2 = 2AC 2

5. ABC is an isosceles triangle with AC = BC. If ,

prove that ABC is a right-angled triangle. 

Watch Video Solution

AB2 = 2AC 2

https://dl.doubtnut.com/l/_sDTn1YPkjVuz
https://dl.doubtnut.com/l/_KQNQGNUi7O9L
https://dl.doubtnut.com/l/_M5vdz6cnP1hP


6. ABC is an equilateral triangle of side 2a. Find each of its

altitudes. 

Watch Video Solution

7. Prove that sum of the squares of the side of a rhombus is equal

to the to the sum of the squares of its diagonals.

Watch Video Solution

8. In the figure given below,  is point in the interior of a triangle

ABC, ,  and . Show that 


(i) 

O

OD ⊥ BC OE ⊥ AC OF ⊥ AB

OA2 + OB2 + OC 2 + OD2 − OE2 − OF 2 = AR2 + BD2 + CE2

https://dl.doubtnut.com/l/_M5vdz6cnP1hP
https://dl.doubtnut.com/l/_bqcqwCPJjkPK
https://dl.doubtnut.com/l/_zVUarLtxKL6P
https://dl.doubtnut.com/l/_VncrHohOpfre


(ii)  


Watch Video Solution

AF 2 + BD2 + CE2 = AE2 + CD2 + BF 2

9. A ladder 10 m long reaches a window 8 m above the ground.

Find the distance of the foot of the ladder from base of the wall.

Watch Video Solution

https://dl.doubtnut.com/l/_VncrHohOpfre
https://dl.doubtnut.com/l/_hGEBvv5G94cl
https://dl.doubtnut.com/l/_YVbFzcvb4WfZ


10. A guy wire attached to a vertical pole of height 18 m is 24 m

long and has a stake attached to the other end . How far from the

base of the pole should the stake be driven so that the wire will

be taut ?

Watch Video Solution

11. An aeroplane leaves an airport and files due north at a speed

of 1000 km per hour. At the same time, another aeroplane leaves

the same airpot and flies due west at a speed of 1200 km per hour

. How far apart will be the two planes after  hours ?

Watch Video Solution

1
1

2

12. Two poles of heights 6 m and 11 m stand on a plane ground. If

the distance between the feet of the poles is 12m , find the

https://dl.doubtnut.com/l/_YVbFzcvb4WfZ
https://dl.doubtnut.com/l/_Yidx80nGG8Ee
https://dl.doubtnut.com/l/_IbEpPy829AYl


distance between their tops .

Watch Video Solution

13. D and E are points on the sides CA and CB respectively of a

triangle ABC right angale at C. prove that

Watch Video Solution

AE2 + BD2 = AB2 + DE2.

14. The perpendicular from A on side BC of a  intersects

BC at D such that DB = 3CD. Prove that . 


Watch Video Solution

ΔABC

2AB2 = 2AC 2 + BC 2

https://dl.doubtnut.com/l/_IbEpPy829AYl
https://dl.doubtnut.com/l/_FQ9aV8kLAXG7
https://dl.doubtnut.com/l/_jtej9VqAIKDM


15. In an equilateral triangle ABC, D is a point on BC such that

. Prove that . 


Watch Video Solution

BD = BC
1

3
9AD2 = 7AB2

16. In an equilateral triangle prove that three times the square of

one side is four times the square of its altitude. 

Watch Video Solution

17. Tick the correct answer and justify : In

 


The angle B is :

ΔABC, AB = 6√3cm, AC = 12cm and BC = 6cm

https://dl.doubtnut.com/l/_oLvb5f47Av35
https://dl.doubtnut.com/l/_seDrFu3Gk4Po
https://dl.doubtnut.com/l/_1pI4ct3sP3Au


Zee Additional Questions Multiple Choice Questions

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

120∘

60∘

90∘

45∘

1. ABC is an isosceles triangle right-angled at C. Prove that

. 


A. 

AB2 = 2AC 2

AB2 = 2AC 2

https://dl.doubtnut.com/l/_1pI4ct3sP3Au
https://dl.doubtnut.com/l/_0EDUpvER4CaF


B. 

C. 

D. 

Answer: A

Watch Video Solution

BC 2 = 2AB2

AC 2 = 2AB2

AB2 = 4AC 2

2. If  is similar to  such that 

 is

A. 

B. 

C. 

D. 

ΔABC ΔDEF

⌊D = 47∘ and ⌊B = 83∘ , ⌊F

80∘

60∘

40∘

50∘

https://dl.doubtnut.com/l/_0EDUpvER4CaF
https://dl.doubtnut.com/l/_9QEsNlNfPRqL


Answer: D

Watch Video Solution

3. In . AD = (7x - 4) cm, AE = (5x - 2) cm, DB =

(3x + 4) cm, and EC = 3x cm. The value of x is

A. 4

B. 3

C. 5

D. 2.5

Answer: A

Watch Video Solution

ΔABC, DE ∣ ∣ BC

https://dl.doubtnut.com/l/_9QEsNlNfPRqL
https://dl.doubtnut.com/l/_K8hPWPWlcqgJ


4. The lengths of the diagonals of a rhombus are 16 cm and 12 cm.

Then the length of the side of the rhombus is

A. 9 cm

B. 10 cm

C. 8 cm

D. 20 cm

Answer: B

Watch Video Solution

5. If in two triangles ABC and PQR, , then

A. 

B. 

= =
AB

QR

BC

PR

CA

PQ

ΔPQR~ΔCAB

ΔPQR~ΔABC

https://dl.doubtnut.com/l/_FbY5W7svy0xM
https://dl.doubtnut.com/l/_fS2s8Vkx8dk9


C. 

D. 

Answer: A

Watch Video Solution

ΔCBA~ΔPQR

ΔBCA~ΔPQR

6. If in two triangles DEF and PQR, 

which of the following is not true?

A. 

B. 

C. 

D. 

Answer: B

W t h Vid S l ti

⌊D = ⌊Q, and ⌊R = ⌊E

=
EF

PR

DF

PQ

=
DE

PQ

EF

RP

=
DE

QR

DF

PQ

=
EF

RP

DE

QR

https://dl.doubtnut.com/l/_fS2s8Vkx8dk9
https://dl.doubtnut.com/l/_rHxVfyiMK8NB


Watch Video Solution

7. The altitude of an equilateral triangle having the length of its

side 12 cm is

A. 12 cm

B.  cm

C. 6 cm

D. cm

Answer: D

Watch Video Solution

6√2

6√3

8. . If ΔABC~ΔPQR

⌊A = 40∘ , ⌊C = 60∘ , AB = 5cm, AC = 8cm and PQ = 7.5cm

https://dl.doubtnut.com/l/_rHxVfyiMK8NB
https://dl.doubtnut.com/l/_rO0BbP0i1Tkm
https://dl.doubtnut.com/l/_bluInyTDqEgi


, the correct statement among the following is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

PR = 12cm, ⌊R = 60∘

QR = 12cm, ⌊R = 80∘

PQ = 12cm, ⌊R = 80∘

QR = 12cm, ⌊P = 40∘

9. In , then  is

A. 

B. 

C. 

ΔDEF , ⌊D = 90∘ , and DL ⊥ EF
EL

LF

( )
2

DE

DF

DE

DF

( )
2

DE

DL

https://dl.doubtnut.com/l/_bluInyTDqEgi
https://dl.doubtnut.com/l/_CVSMFJtjA54b


D. 

Answer: B

Watch Video Solution

DE

DL

10. . If AB = 4 cm, AC = 3.5 cm, BC = 3 cm, and EF = 6

cm, the perimeter of  is

A. 21 cm

B. 14 cm

C. 10.5 cm

D. 18 cm

Answer: A

Watch Video Solution

ΔABC~ΔDEF

ΔDEF

https://dl.doubtnut.com/l/_CVSMFJtjA54b
https://dl.doubtnut.com/l/_DxodOHZbYPAZ


Zee Additional Questions Very Short Answer Questions

11. In the figure, if , then OP

: OS is 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ΔPOQ~ΔSOR and PQ : RS = 1: 2

1: 2

2: 1

3: 1

1: 3

https://dl.doubtnut.com/l/_YqN8rlNgzabB


1. In , D and E are points on AB and AC respectively, such

that . If  and AC = 20.4 cm, find AE.

Watch Video Solution

ΔABC

DE ∣ ∣ BC =
AD

DB

4
13

2. In , D and E are points on AB and AC respectively, such

that DE || BC. If AD = 4, AE = 8, DB = x - 4, and EC = 3x - 19, find x.

Watch Video Solution

ΔABC

3. Given . If , find .

Watch Video Solution

ΔABC~ΔPQR =
AB

PQ

1

3

Area ΔABC

Area ΔPQR

4. Find the perimeter of the square whose diagonal is  cm.5√2

https://dl.doubtnut.com/l/_DejfmqOtOhD4
https://dl.doubtnut.com/l/_qcZwxfnGdTlY
https://dl.doubtnut.com/l/_eNsZuIjg5bjs
https://dl.doubtnut.com/l/_rHc8snvW17eg


Watch Video Solution

5. . If area , area 

, and AB = 1.5 m, find DE.

Watch Video Solution

ΔABC~ΔDEF (ΔABC) = 2.89m2

(ΔDEF ) = 2.25m2

6. If , AB = 7 cm, PQ = 12.5 cm, and the perimeter

of , find the perimeter of .

View Text Solution

ΔABC~ΔPQR

ΔABC = 70cm ΔPQR

7. A vertical stick 1 m long casts a shadow 80 cm long. At the same

time a tower casts a shadow 30 m long. Determine the height of

the tower.

Watch Video Solution

https://dl.doubtnut.com/l/_rHc8snvW17eg
https://dl.doubtnut.com/l/_DfBIHlPwwHHP
https://dl.doubtnut.com/l/_RvZQIPtNCTg2
https://dl.doubtnut.com/l/_eUufIgfL1cTE


Zee Additional Questions Short Answer Type 1 Questions

8. In an isosceles triangle ABC, if AB = AC = 25 cm and altitude

from A on BC is 24 cm, find BC.

Watch Video Solution

9. Find the length of the chord of a circle of radius 8 cm which

subtends a right angle at the centre.

Watch Video Solution

10. State and prove Basic proportionality theorem

Watch Video Solution

https://dl.doubtnut.com/l/_eUufIgfL1cTE
https://dl.doubtnut.com/l/_CG3g3C2DcnVQ
https://dl.doubtnut.com/l/_7y1JJf7mMd9D
https://dl.doubtnut.com/l/_JY2kTNUerDQm


1. Legs of a right triangle are of lengths 16 cm and 8 cm. Find the

length of the side of the largest square that can be inscribed in

the triangle.

Watch Video Solution

2. In the figure . Prove that BAC is an

isosceles triangle. 

Watch Video Solution

⌊D = ⌊E and =
AD

DB

AE

EC

3. Diagonals of trapezium PQRS intersect each other at the point

O, PQ||RS, and PQ = 3RS. Find the ratio of the areas of triangles

POQ and ROS.

https://dl.doubtnut.com/l/_brWaQiCT6Gp6
https://dl.doubtnut.com/l/_6E5sUbnXrcDS
https://dl.doubtnut.com/l/_c5JnIGCWZ0ap


Watch Video Solution

4. In the given figure PQ  RS , prove that  


Watch Video Solution

∣∣ ΔPOQ~ΔSOR.

5. In the triangle PQR, is a point on PR such that . If PN.

NR = , prove that .

Watch Video Solution

QN ⊥ PR

QN 2 ⌊PQR = 90∘

https://dl.doubtnut.com/l/_c5JnIGCWZ0ap
https://dl.doubtnut.com/l/_JXbB3Xyukfxi
https://dl.doubtnut.com/l/_sfQiSDoFp9on


6. If in a ,

and YR = 9x, find the value of x.

View Text Solution

ΔPQR, XY ∣ ∣ QR, PX = 22x, XQ = 3x, PY = x

7. In a rectangle ABCD, E is the mid point of AB. If AB = 16 cm and

AD = 6 m, find ED.

Watch Video Solution

8. In the given figure, . Prove that 

. 


Watch Video Solution

⌊ACB = 90∘ and CD ⊥ AB

=
BC 2

AC 2

BD

AD

https://dl.doubtnut.com/l/_0aIxTrZNBZ22
https://dl.doubtnut.com/l/_rJTRDb35Nwlo
https://dl.doubtnut.com/l/_IMFSQwDH06Aq
https://dl.doubtnut.com/l/_9MMOMDQQGCX8


9. In an isosceles . Prove that

.

Watch Video Solution

ΔABC, AB = AC and BD ⊥ AC

BD2 − CD2 = 2CD. AD

10. In a quadrilateral ABCD, . If 

, prove that .

Watch Video Solution

⌊B = 90∘

AD2 = AB2 + BC 2 + CD2 ⌊ACD = 90∘

11. P and Q are the points on sides AB and AC respectively of

. If AP = 3 cm, PB = 6 cm, AQ = 5 cm and QC = 10 cm, show

that BC = 3 PQ.

Watch Video Solution

ΔABC

https://dl.doubtnut.com/l/_9MMOMDQQGCX8
https://dl.doubtnut.com/l/_dDty1CWCs3aT
https://dl.doubtnut.com/l/_a93qNZeiHTeb


12. In  ABC , AD BC and . Prove that 

=  


Watch Video Solution

Δ ⊥ AD2 = BD × CD

AB2 + AC 2 (BD + CD)2

13. In  ABC , DE  BC . If AD= 5 cm , BD = 7 cm and AC = 18 cm , find

the length of AE. 

Δ ∣∣

https://dl.doubtnut.com/l/_lJz94MJpjRLk
https://dl.doubtnut.com/l/_0OW4aRALKP7f


Watch Video Solution

14.  and their areas are 

respectively. If  then find the measure of BC.

Watch Video Solution

ΔABC~ΔDEF 64cm2 and 100cm2

EF = 12cm

15. The diagonal BD of parallelogram ABCD intersect AE at F as

shown in the figure. If E is any point on BC, then prove that

.DF × EF = FB = FA

https://dl.doubtnut.com/l/_0OW4aRALKP7f
https://dl.doubtnut.com/l/_ayRHwVAtBVHX
https://dl.doubtnut.com/l/_emw3ezNFLUhU


Zee Additional Questions Short Answer Type 2 Questions

Watch Video Solution

1. Prove that if the area of similar triangles are equal, they are

congruent.

Watch Video Solution

2. In the figure, ABC is a right-angled triangle, right-angled at C. D

is a midpoint of BC. Prove that . 


Watch Video Solution

AB2 = 4AD2 − 3AC 2

https://dl.doubtnut.com/l/_emw3ezNFLUhU
https://dl.doubtnut.com/l/_jqeBaZ09f0ZG
https://dl.doubtnut.com/l/_gGls7EHMY9US


3. In Fig , ABC and DBC are two triangles on the same base BC. If

AD intersects BC,at O , show that  

Watch Video Solution

=
ar(ABC)

ar(DBC)

AO

DO

4. In the given figure, DE || BC and AD : DB = 5 : 4. Find

. 


Watch Video Solution

ar(ΔDEF ) : ar(ΔCFB)

https://dl.doubtnut.com/l/_E3UxvOW99Dha
https://dl.doubtnut.com/l/_I1xJOmRddf9w
https://dl.doubtnut.com/l/_Vxb0hejciGQi


5. In the given figure, PA, QB, and RC each is perpendicular to AC

such that PA = x, RC = y, QB = z, AB = a, and BC = b. Prove that

. 


Watch Video Solution

+ =
1

x

1

y

1

z

6. A girl of height 100 cm is walking away from the base of a lamp

post at a speed of 1.9 m/s. If the lamp post is 5 m above the

ground, find the length of her shadow after 4 seconds.

Watch Video Solution

7. In a right-angled  right-angled at C, P and Q are the

midpoints of BC and AC. Prove that .

Watch Video Solution

ΔABC

AP 2 + BQ2 = 5PQ2

https://dl.doubtnut.com/l/_Vxb0hejciGQi
https://dl.doubtnut.com/l/_qsUkLjRjZGwh
https://dl.doubtnut.com/l/_KztQRHFqFiBs


Zee Additional Questions Long Answer Type Questions

1. Throught the mid-point M of the sides of a parallelogram ABCD,

the line BM is drawn intersecting AC at L, and AD produced to E.

Prove that . 


Watch Video Solution

EL = 2BL

https://dl.doubtnut.com/l/_KztQRHFqFiBs
https://dl.doubtnut.com/l/_mlHROKmyv54F


2. A 5 m long ladder is placed leaning towards a vertical wall such

that it reaches the wall at a point 4 m high. If the foot of the

ladder is moved 1.6 m towards the wall, find the distance by which

the top of the ladder would slide upwards on the wall.

Watch Video Solution

3. In the figure, OB is the perpendicular bisector of the line

segment DE.  and FE intersects OB at point C. Prove

that . 


Watch Video Solution

FA ⊥ OB

+ =
1

OA

1

OB

2

OC

https://dl.doubtnut.com/l/_mlHROKmyv54F
https://dl.doubtnut.com/l/_C9oPEGUMTIQo
https://dl.doubtnut.com/l/_WzjkZuYnM9bC


4. In triangle ABC, AP, BQ and CR are the medians. Prove that

. 


Watch Video Solution

3[AB2 + BC 2 + AC 2] = 4[AP 2 + BQ2 + CR2]

5. If A is the area of a right angled triangle and b is one of the

sides containing the right angle. Prove that the length of the

altitude on the hypotenuse is . 


Watch Video Solution

2Ab

√b4 + 4A2

6. In the given figure, AD is the median of

. Prove that : . 
ΔABC and AE ⊥ BC b2 + c2 = 2p2 + a21

2

https://dl.doubtnut.com/l/_WfbIeKEV1EzP
https://dl.doubtnut.com/l/_7Hx9pdlYD4So
https://dl.doubtnut.com/l/_d6eOMhBrEDCD


Watch Video Solution

7. In an equilateral triangle ABC, D is a point of BC such that 4BD =

BC. Prove that .

Watch Video Solution

16AD2 = 13BC 2

8. Prove that the ratio of the areas of two similar triangles is

equal to the square of the ratio of their corresponding medians.

Watch Video Solution

9. In a right angled triangle, square on the hypotenuse is equal to

sum of the squares on the other sides. Prove the statement.

Watch Video Solution

https://dl.doubtnut.com/l/_d6eOMhBrEDCD
https://dl.doubtnut.com/l/_4Kdh5CHrheZ0
https://dl.doubtnut.com/l/_TFrYpcVuqbT1
https://dl.doubtnut.com/l/_7oVzPzfknXUn


10. State and prove pythagoras theorem .

Watch Video Solution

https://dl.doubtnut.com/l/_7oVzPzfknXUn
https://dl.doubtnut.com/l/_OxGVhbFeuGDp

